Candidates

Stage 1

Quota = 170.77

Caroline Osborne ELECTED

With 304.00 over quota 170.77

Christopher Graham ELECTED

With 250.00 over quota 170.77

Lynn Henderson ELECTED

With 240.00 over quota 170.77

Stage 2

No candidates can be excluded, so we transfer the largest surplus

Surplus of Caroline Osborne

2 papers non transferable.

302.00 transferred

This is more than the surplus of 133.23

So ballot papers given a new value of 0.44

Transfer from Caroline Osborne: 302 at 0.44 = 132.88

Transfer to Victor Chamberlain: 15 at 0.44 = 6.60 Transfer to Michael Barker: 3 at 0.44 = 1.32

Transfer to Amy Dodd: 30 at 0.44 = 13.20

Transfer to Richard Wood: 7 at 0.44 = 3.08

Transfer to Pablo John: 27 at 0.44 = 11.88 Transfer to Conor Black: 6 at 0.44 = 2.64

Transfer to Martin Prior: 2 at 0.44 = 0.88

Transfer to Frances Foley: 57 at 0.44 = 25.08

Transfer to Stephen Gosling: 14 at 0.44 = 6.16

Transfer to John Doolan: 18 at 0.44 = 7.92

Transfer to Chris Finlayson: 10 at 0.44 = 4.40

Transfer to Rwth Hunt: 3 at 0.44 = 1.32

Transfer to Andrew Vaux: 6 at 0.44 = 2.64

Transfer to David Green: 14 at 0.44 = 6.16

Transfer to Kirsten de Keyser: 26 at 0.44 = 11.44

Transfer to Sandy Martin: 33 at 0.44 = 14.52

Transfer to Jane Reed: 4 at 0.44 = 1.76

Transfer to Philip Cole: 4 at 0.44 = 1.76 Transfer to William Woodward: 4 at 0.44 = 1.76

Transfer to Shaun Roberts: 19 at 0.44 = 8.36

Victor Chamberlain ELECTED

With 171.60 over quota 170.77

No candidates can be excluded, so we transfer the largest surplus

Surplus of Christopher Graham

2 papers non transferable.

248.00 transferred

This is more than the surplus of 79.23

So ballot papers given a new value of 0.31

Transfer from Christopher Graham: 248 at 0.31 = 76.88

Transfer to Michael Barker: 1 at 0.31 = 0.31

Transfer to Amy Dodd: 18 at 0.31 = 5.58 Transfer to Richard Wood: 4 at 0.31 = 1.24

Transfer to Pablo John: 13 at 0.31 = 4.03

Transfer to Conor Black: 2 at 0.31 = 0.62 Transfer to Martin Prior: 1 at 0.31 = 0.31

Transfer to Frances Foley: 12 at 0.31 = 3.72

Transfer to Stephen Gosling: 13 at 0.31 = 4.03

Transfer to John Doolan: 1 at 0.31 = 0.31

Transfer to Chris Finlayson: 14 at 0.31 = 4.34

Transfer to Andrew Vaux: 2 at 0.31 = 0.62 Transfer to David Green: 29 at 0.31 = 8.99

Transfer to Kirsten de Keyser: 37 at 0.31 = 11.47

Transfer to Sandy Martin: 44 at 0.31 = 13.64 Transfer to Jane Reed: 16 at 0.31 = 4.96 Transfer to Philip Cole: 17 at 0.31 = 5.27 Transfer to Tim Stanyon: 3 at 0.31 = 0.93 Transfer to William Woodward: 7 at 0.31 = 2.17 Transfer to Shaun Roberts: 14 at 0.31 = 4.34

Amy Dodd ELECTED

With 172.78 over quota 170.77

Stage 4

No candidates can be excluded, so we transfer the largest surplus Surplus of Lynn Henderson

8 papers non transferable.

232.00 transferred

This is more than the surplus of 69.23 So ballot papers given a new value of 0.29

Transfer from Lynn Henderson: 232 at 0.29 = 67.28
Transfer to Michael Barker: 11 at 0.29 = 3.19
Transfer to Richard Wood: 33 at 0.29 = 9.57
Transfer to Pablo John: 41 at 0.29 = 11.89
Transfer to Conor Black: 13 at 0.29 = 3.77
Transfer to Martin Prior: 7 at 0.29 = 2.03
Transfer to Frances Foley: 58 at 0.29 = 16.82
Transfer to Stephen Gosling: 5 at 0.29 = 1.45
Transfer to John Doolan: 4 at 0.29 = 1.16
Transfer to Chris Finlayson: 8 at 0.29 = 2.32
Transfer to Rydrew Value: 2 at 0.29 = 1.55
Transfer to Andrew Value: 2 at 0.29 = 0.58

Transfer to Rwth Hunt: 5 at 0.29 = 1.45
Transfer to Andrew Vaux: 2 at 0.29 = 0.58
Transfer to David Green: 7 at 0.29 = 2.03
Transfer to Kirsten de Keyser: 10 at 0.29 = 2.90
Transfer to Sandy Martin: 15 at 0.29 = 4.35
Transfer to Jane Reed: 2 at 0.29 = 0.58
Transfer to Tim Stanyon: 2 at 0.29 = 0.58
Transfer to William Woodward: 4 at 0.29 = 1.16
Transfer to Shaun Roberts: 5 at 0.29 = 1.45
Vote required for election now: 170.19

Stage 5

No candidates can be excluded, so we transfer the largest surplus

Surplus of Amy Dodd

1 papers non transferable.

17.00 transferred

This is more than the surplus of 2.01 So ballot papers given a new value of 0.11 Transfer from Amy Dodd: 17 at 0.11 = 1.87 Transfer to Michael Barker: 2 at 0.11 = 0.22 Transfer to Richard Wood: 5 at 0.11 = 0.55 Transfer to Pablo John: 3 at 0.11 = 0.33 Transfer to Martin Prior: 3 at 0.11 = 0.33 Transfer to Frances Foley: 1 at 0.11 = 0.11 Transfer to William Woodward: 2 at 0.11 = 0.22

Transfer to Shaun Roberts: 1 at 0.11 = 0.11 Vote required for election now: 170.17

·

Stage 6

No candidates can be excluded, so we transfer the largest surplus

Surplus of Victor Chamberlain

15.00 transferred

This is more than the surplus of 0.83

So ballot papers given a new value of 0.05

Transfer from Victor Chamberlain: 15 at 0.05 = 0.75

Transfer to Richard Wood: 5 at 0.05 = 0.25
Transfer to Pablo John: 1 at 0.05 = 0.05
Transfer to John Doolan: 2 at 0.05 = 0.10
Transfer to Andrew Vaux: 2 at 0.05 = 0.10
Transfer to David Green: 1 at 0.05 = 0.05

Transfer to Philip Cole: 1 at 0.05 = 0.05 Transfer to Tim Stanyon: 1 at 0.05 = 0.05 Transfer to Shaun Roberts: 2 at 0.05 = 0.10 Vote required for election now: 170.16

Stage 7

Excluding Andrew Vaux

Transferring papers worth 1.00

Transfer from Andrew Vaux: 13 at 1.00 = 13.00 Transfer to Michael Barker: 2 at 1.00 = 2.00 Transfer to Stephen Gosling: 3 at 1.00 = 3.00 Transfer to Chris Finlayson: 1 at 1.00 = 1.00 Transfer to Kirsten de Keyser: 1 at 1.00 = 1.00 Transfer to Tim Stanyon: 2 at 1.00 = 2.00 Transfer to William Woodward: 1 at 1.00 = 1.00 Transfer to Shaun Roberts: 3 at 1.00 = 3.00

Transferring papers worth 0.44

Transfer from Andrew Vaux: 6 at 0.44 = 2.64 Transfer to Frances Foley: 1 at 0.44 = 0.44 Transfer to David Green: 4 at 0.44 = 1.76 Transfer to Non-transferable: 1 at 0.44 = 0.44 Transferring papers worth 0.31 Transfer from Andrew Vaux: 2 at 0.31 = 0.62

Transfer from Andrew Vaux: 2 at 0.31 = 0.62 Transfer to Chris Finlayson: 2 at 0.31 = 0.62

Transferring papers worth 0.29

Transfer from Andrew Vaux: 2 at 0.29 = 0.58 Transfer to Frances Foley: 2 at 0.29 = 0.58

Transferring papers worth 0.05

Transfer from Andrew Vaux: 2 at 0.05 = 0.10 Transfer to Richard Wood: 2 at 0.05 = 0.10

Stage 8

Excluding Tim Stanyon

Transferring papers worth 1.00

Transfer from Tim Stanyon: 18 at 1.00 = 18.00 Transfer to Richard Wood: 2 at 1.00 = 2.00 Transfer to Frances Foley: 2 at 1.00 = 2.00 Transfer to Stephen Gosling: 3 at 1.00 = 3.00 Transfer to John Doolan: 2 at 1.00 = 2.00 Transfer to Rwth Hunt: 2 at 1.00 = 2.00 Transfer to David Green: 1 at 1.00 = 1.00 Transfer to Jane Reed: 1 at 1.00 = 1.00 Transfer to Philip Cole: 3 at 1.00 = 3.00 Transfer to Shaun Roberts: 1 at 1.00 = 1.00 Transfer to Non-transferable: 1 at 1.00 = 1.00

Frances Foley ELECTED

With 170.75

Transferring papers worth 0.31

Transfer from Tim Stanyon: 3 at 0.31 = 0.93
Transfer to Stephen Gosling: 1 at 0.31 = 0.31
Transfer to Shaun Roberts: 2 at 0.31 = 0.62
Transferring papers worth 0.29
Transfer from Tim Stanyon: 2 at 0.29 = 0.58
Transfer to Conor Black: 1 at 0.29 = 0.29
Transfer to Non-transferable: 1 at 0.29 = 0.29
Transferring papers worth 0.05

Transfer from Tim Stanyon: 1 at 0.05 = 0.05 Transfer to Sandy Martin: 1 at 0.05 = 0.05

Stage 9

Excluding Conor Black

Transferring papers worth 1.00
Transfer from Conor Black: 18 at 1.00 = 18.00
Transfer to Pablo John: 7 at 1.00 = 7.00
Transfer to John Doolan: 1 at 1.00 = 1.00
Transfer to Rwth Hunt: 1 at 1.00 = 1.00
Transfer to Sandy Martin: 2 at 1.00 = 2.00

Transfer to William Woodward: 1 at 1.00 = 1.00 Transfer to Shaun Roberts: 1 at 1.00 = 1.00 Transfer to Non-transferable: 5 at 1.00 = 5.00 Transferring papers worth 0.44 Transfer from Conor Black: 6 at 0.44 = 2.64 Transfer to Martin Prior: 2 at 0.44 = 0.88 Transfer to John Doolan: 2 at 0.44 = 0.88 Transfer to Kirsten de Keyser: 2 at 0.44 = 0.88 Transferring papers worth 0.31 Transfer from Conor Black: 2 at 0.31 = 0.62 Transfer to Chris Finlayson: 2 at 0.31 = 0.62 Transferring papers worth 0.29 Transfer from Conor Black: 14 at 0.29 = 4.06 Transfer to Martin Prior: 1 at 0.29 = 0.29 Transfer to Stephen Gosling: 2 at 0.29 = 0.58 Transfer to John Doolan: 1 at 0.29 = 0.29 Transfer to Rwth Hunt: 1 at 0.29 = 0.29 Transfer to Kirsten de Keyser: 4 at 0.29 = 1.16 Transfer to Philip Cole: 1 at 0.29 = 0.29 Transfer to William Woodward: 4 at 0.29 = 1.16

Stage 10

Excluding Martin Prior

Transferring papers worth 1.00 Transfer from Martin Prior: 29 at 1.00 = 29.00 Transfer to Michael Barker: 1 at 1.00 = 1.00 Transfer to Richard Wood: 5 at 1.00 = 5.00 Transfer to Pablo John: 3 at 1.00 = 3.00 Transfer to Stephen Gosling: 5 at 1.00 = 5.00 Transfer to John Doolan: 4 at 1.00 = 4.00 Transfer to Chris Finlayson: 1 at 1.00 = 1.00 Transfer to Rwth Hunt: 1 at 1.00 = 1.00 Transfer to David Green: 5 at 1.00 = 5.00 Transfer to Sandy Martin: 1 at 1.00 = 1.00 Transfer to Shaun Roberts: 1 at 1.00 = 1.00 Transfer to Non-transferable: 2 at 1.00 = 2.00 Transferring papers worth 0.44 Transfer from Martin Prior: 4 at 0.44 = 1.76 Transfer to Richard Wood: 2 at 0.44 = 0.88 Transfer to David Green: 2 at 0.44 = 0.88 Transferring papers worth 0.31 Transfer from Martin Prior: 1 at 0.31 = 0.31 Transfer to Pablo John: 1 at 0.31 = 0.31 Transferring papers worth 0.29 Transfer from Martin Prior: 8 at 0.29 = 2.32 Transfer to Richard Wood: 1 at 0.29 = 0.29 Transfer to Stephen Gosling: 3 at 0.29 = 0.87 Transfer to David Green: 1 at 0.29 = 0.29 Transfer to Kirsten de Keyser: 2 at 0.29 = 0.58 Transfer to Non-transferable: 1 at 0.29 = 0.29 Transferring papers worth 0.11 Transfer from Martin Prior: 3 at 0.11 = 0.33 Transfer to Stephen Gosling: 2 at 0.11 = 0.22

Stage 11

Excluding John Doolan

Transferring papers worth 1.00 Transfer from John Doolan: 30 at 1.00 = 30.00 Transfer to Pablo John: 7 at 1.00 = 7.00 Transfer to Stephen Gosling: 1 at 1.00 = 1.00 Transfer to Chris Finlayson: 1 at 1.00 = 1.00 Transfer to David Green: 4 at 1.00 = 4.00 Transfer to Sandy Martin: 13 at 1.00 = 13.00 Transfer to Philip Cole: 1 at 1.00 = 1.00

Transfer to Non-transferable: 3 at 1.00 = 3.00

Transfer to David Green: 1 at 0.11 = 0.11

David Green ELECTED

With 172.27 over quota 170.77

Transferring papers worth 0.44

Transfer from John Doolan: 20 at 0.44 = 8.80 Transfer to Pablo John: 7 at 0.44 = 3.08 Transfer to Stephen Gosling: 4 at 0.44 = 1.76 Transfer to Chris Finlayson: 3 at 0.44 = 1.32 Transfer to Kirsten de Keyser: 2 at 0.44 = 0.88 Transfer to Sandy Martin: 3 at 0.44 = 1.32 Transfer to Non-transferable: 1 at 0.44 = 0.44

Transferring papers worth 0.31

Transfer from John Doolan : 1 at 0.31 = 0.31 Transfer to Richard Wood : 1 at 0.31 = 0.31

Transferring papers worth 0.29

Transfer from John Doolan: 5 at 0.29 = 1.45 Transfer to Kirsten de Keyser: 3 at 0.29 = 0.87 Transfer to Sandy Martin: 2 at 0.29 = 0.58

Transferring papers worth 0.05

Transfer from John Doolan: 2 at 0.05 = 0.10 Transfer to Richard Wood: 2 at 0.05 = 0.10

Stage 12

No candidates can be excluded, so we transfer the largest surplus Surplus of David Green

4.00 transferred

This is more than the surplus of 1.50 So ballot papers given a new value of 0.37 Transfer from David Green: 4 at 0.37 = 1.48 Transfer to Kirsten de Keyser: 2 at 0.37 = 0.74 Transfer to Sandy Martin: 2 at 0.37 = 0.74 Vote required for election now: 167.88

Stage 13

Excluding Michael Barker

Transferring papers worth 1.00

Transfer from Michael Barker: 36 at 1.00 = 36.00 Transfer to Richard Wood: 7 at 1.00 = 7.00 Transfer to Pablo John: 2 at 1.00 = 2.00 Transfer to Stephen Gosling: 6 at 1.00 = 6.00 Transfer to Chris Finlayson: 5 at 1.00 = 5.00 Transfer to Kirsten de Keyser: 4 at 1.00 = 4.00 Transfer to Jane Reed: 2 at 1.00 = 2.00

Transfer to Vane Reed: 2 at 1.00 = 2.00
Transfer to Philip Cole: 2 at 1.00 = 2.00
Transfer to Shaun Roberts: 7 at 1.00 = 7.00
Transfer to Non-transferable: 1 at 1.00 = 1.00

Transferring papers worth 0.44

Transfer from Michael Barker: 3 at 0.44 = 1.32 Transfer to Kirsten de Keyser: 2 at 0.44 = 0.88 Transfer to Sandy Martin: 1 at 0.44 = 0.44

Transferring papers worth 0.31

Transfer from Michael Barker: 1 at 0.31 = 0.31 Transfer to Stephen Gosling: 1 at 0.31 = 0.31

Transferring papers worth 0.29

Transfer from Michael Barker: 11 at 0.29 = 3.19 Transfer to Richard Wood: 6 at 0.29 = 1.74 Transfer to Pablo John: 3 at 0.29 = 0.87 Transfer to Stephen Gosling: 1 at 0.29 = 0.29 Transfer to Jane Reed: 1 at 0.29 = 0.29

Transferring papers worth 0.11

Transfer from Michael Barker: 2 at 0.11 = 0.22 Transfer to Rwth Hunt: 2 at 0.11 = 0.22

Stage 14

Excluding Rwth Hunt

Transferring papers worth 1.00

Transfer from Rwth Hunt: 39 at 1.00 = 39.00 Transfer to Richard Wood: 3 at 1.00 = 3.00 Transfer to Pablo John: 4 at 1.00 = 4.00 Transfer to Stephen Gosling: 1 at 1.00 = 1.00 Transfer to Chris Finlayson: 6 at 1.00 = 6.00 Transfer to Kirsten de Keyser: 8 at 1.00 = 8.00

Transfer to Sandy Martin: 2 at 1.00 = 2.00 Transfer to Jane Reed: 3 at 1.00 = 3.00 Transfer to Philip Cole: 6 at 1.00 = 6.00 Transfer to William Woodward: 1 at 1.00 = 1.00 Transfer to Shaun Roberts: 1 at 1.00 = 1.00 Transfer to Non-transferable: 4 at 1.00 = 4.00

Kirsten de Keyser ELECTED

With 172.80 over quota 170.77

Transferring papers worth 0.44 Transfer from Rwth Hunt: 3 at 0.44 = 1.32 Transfer to Sandy Martin: 1 at 0.44 = 0.44 Transfer to Philip Cole: 2 at 0.44 = 0.88 Transferring papers worth 0.29 Transfer from Rwth Hunt: 6 at 0.29 = 1.74 Transfer to Stephen Gosling: 1 at 0.29 = 0.29 Transfer to Sandy Martin: 1 at 0.29 = 0.29 Transfer to Jane Reed: 1 at 0.29 = 0.29 Transfer to William Woodward: 2 at 0.29 = 0.58 Transfer to Non-transferable: 1 at 0.29 = 0.29 Transferring papers worth 0.11 Transfer from Rwth Hunt: 2 at 0.11 = 0.22 Transfer to Stephen Gosling: 2 at 0.11 = 0.22

Stage 15

Excluding Jane Reed Transferring papers worth 1.00 Transfer from Jane Reed: 42 at 1.00 = 42.00 Transfer to Richard Wood: 7 at 1.00 = 7.00 Transfer to Pablo John: 4 at 1.00 = 4.00 Transfer to Stephen Gosling: 5 at 1.00 = 5.00 Transfer to Chris Finlayson: 6 at 1.00 = 6.00 Transfer to Sandy Martin: 2 at 1.00 = 2.00 Transfer to William Woodward: 8 at 1.00 = 8.00 Transfer to Shaun Roberts: 3 at 1.00 = 3.00 Transfer to Non-transferable: 7 at 1.00 = 7.00 Transferring papers worth 0.44 Transfer from Jane Reed: 4 at 0.44 = 1.76 Transfer to Sandy Martin: 1 at 0.44 = 0.44 Transfer to William Woodward: 1 at 0.44 = 0.44 Transfer to Non-transferable: 2 at 0.44 = 0.88 Transferring papers worth 0.31 Transfer from Jane Reed: 16 at 0.31 = 4.96 Transfer to Richard Wood: 3 at 0.31 = 0.93 Transfer to Pablo John: 1 at 0.31 = 0.31 Transfer to Stephen Gosling: 2 at 0.31 = 0.62 Transfer to Chris Finlayson: 3 at 0.31 = 0.93 Transfer to Sandy Martin: 4 at 0.31 = 1.24 Transfer to Non-transferable: 3 at 0.31 = 0.93 Transferring papers worth 0.29 Transfer from Jane Reed: 4 at 0.29 = 1.16 Transfer to Richard Wood: 1 at 0.29 = 0.29 Transfer to Chris Finlayson: 1 at 0.29 = 0.29

Stage 16

Excluding Philip Cole

Transferring papers worth 1.00 Transfer from Philip Cole: 57 at 1.00 = 57.00 Transfer to Richard Wood: 4 at 1.00 = 4.00 Transfer to Pablo John: 4 at 1.00 = 4.00 Transfer to Stephen Gosling: 6 at 1.00 = 6.00 Transfer to Chris Finlayson: 17 at 1.00 = 17.00 Transfer to Sandy Martin: 14 at 1.00 = 14.00 Transfer to William Woodward: 3 at 1.00 = 3.00 Transfer to Shaun Roberts: 3 at 1.00 = 3.00

Transfer to Philip Cole: 1 at 0.29 = 0.29 Transfer to Non-transferable: 1 at 0.29 = 0.29

Transfer to Non-transferable: 6 at 1.00 = 6.00

Sandy Martin ELECTED

With 174.05 over quota 170.77

Transferring papers worth 0.44

Transfer from Philip Cole: 6 at 0.44 = 2.64 Transfer to Richard Wood: 1 at 0.44 = 0.44 Transfer to Pablo John: 2 at 0.44 = 0.88 Transfer to Shaun Roberts: 3 at 0.44 = 1.32

Transferring papers worth 0.31

Transfer from Philip Cole: 17 at 0.31 = 5.27 Transfer to Richard Wood: 1 at 0.31 = 0.31 Transfer to Pablo John: 2 at 0.31 = 0.62 Transfer to Stephen Gosling: 1 at 0.31 = 0.31 Transfer to Chris Finlayson: 4 at 0.31 = 1.24 Transfer to William Woodward: 3 at 0.31 = 0.93 Transfer to Shaun Roberts: 4 at 0.31 = 1.24 Transfer to Non-transferable: 2 at 0.31 = 0.62

Transferring papers worth 0.29

Transfer from Philip Cole: 2 at 0.29 = 0.58 Transfer to William Woodward: 1 at 0.29 = 0.29 Transfer to Non-transferable: 1 at 0.29 = 0.29 Transferring papers worth 0.05

Transfer from Philip Cole: 1 at 0.05 = 0.05 Transfer to Non-transferable: 1 at 0.05 = 0.05

Stage 17

No candidates can be excluded, so we transfer the largest surplus Surplus of Sandy Martin

2 papers non transferable.

12.00 transferred

This is more than the surplus of 3.28 So ballot papers given a new value of 0.27 Transfer from Sandy Martin: 12 at 0.27 = 3.24 Transfer to Pablo John: 1 at 0.27 = 0.27 Transfer to Stephen Gosling : 4 at 0.27 = 1.08 Transfer to Chris Finlayson: 7 at 0.27 = 1.89 Vote required for election now: 161.09

Stage 18

Excluding Stephen Gosling
Transferring papers worth 1.00

Transfer from Stephen Gosling: 59 at 1.00 = 59.00 Transfer to Richard Wood: 9 at 1.00 = 9.00 Transfer to Pablo John: 3 at 1.00 = 3.00 Transfer to Chris Finlayson: 12 at 1.00 = 12.00 Transfer to William Woodward: 3 at 1.00 = 3.00 Transfer to Shaun Roberts: 13 at 1.00 = 13.00 Transfer to Non-transferable: 19 at 1.00 = 19.00

Transferring papers worth 0.44

Transfer from Stephen Gosling: 18 at 0.44 = 7.92 Transfer to Richard Wood: 1 at 0.44 = 0.44 Transfer to Pablo John: 6 at 0.44 = 2.64 Transfer to Chris Finlayson: 2 at 0.44 = 0.88 Transfer to Shaun Roberts: 6 at 0.44 = 2.64 Transfer to Non-transferable: 3 at 0.44 = 1.32

Transferring papers worth 0.31

Transfer from Stephen Gosling: 18 at 0.31 = 5.58 Transfer to Richard Wood: 4 at 0.31 = 1.24 Transfer to Pablo John: 5 at 0.31 = 1.55 Transfer to Chris Finlayson: 4 at 0.31 = 1.24 Transfer to William Woodward: 2 at 0.31 = 0.62 Transfer to Shaun Roberts: 3 at 0.31 = 0.93

Pablo John ELECTED

With 156.71

Transferring papers worth 0.29

Transfer from Stephen Gosling: 12 at 0.29 = 3.48 Transfer to Richard Wood : 1 at 0.29 = 0.29

Transfer to Chris Finlayson: 3 at 0.29 = 0.87 Transfer to William Woodward: 3 at 0.29 = 0.87 Transfer to Shaun Roberts: 3 at 0.29 = 0.87 Transfer to Non-transferable: 2 at 0.29 = 0.58

Transferring papers worth 0.27

Transfer from Stephen Gosling : 4 at 0.27 = 1.08 Transfer to Richard Wood: 2 at 0.27 = 0.54 Transfer to William Woodward: 2 at 0.27 = 0.54

Transferring papers worth 0.11
Transfer from Stephen Gosling: 4 at 0.11 = 0.44
Transfer to Shaun Roberts: 2 at 0.11 = 0.22 Transfer to Non-transferable: 2 at 0.11 = 0.22

Stage 19

Excluding William Woodward

Transferring papers worth 1.00

Transfer from William Woodward: 76 at 1.00 = 76.00 Transfer to Richard Wood : 28 at 1.00 = 28.00 Transfer to Chris Finlayson: 25 at 1.00 = 25.00 Transfer to Shaun Roberts: 11 at 1.00 = 11.00 Transfer to Non-transferable: 12 at 1.00 = 12.00

Shaun Roberts ELECTED

With 161.20

Chris Finlayson ELECTED

With 149.96

Finished